
Canonbury Home Learning 
Year 2 Maths  
ANSWERS 

 

Task 1 Task 2 Task 3 Task 4 

Practice 
1. Sam draws a 3cm 
line. He starts at the 
arrow. What number 
will he finish at? 
 
 
 
 

6cm + 3cm = 9cm 
 
2. Alex draws a 5cm 
line. She starts at the 
arrow. What number 
will she finish at? 
 
 
 
3cm + 5cm = 8cm 
 

3. Ben draws a 6cm 
line. He starts at the 
arrow. What number 
will he finish at? 
 
 
 

1cm + 6cm = 7cm 

Practice 
How long are these objects? 
1. A = ____ cm 
 

1.  

A = 8cm  
B = 5cm 
C = 7cm 
 
2. 
A = 5cm 
B = 3cm  
C = 7cm 
 
3. 

A = 4cm 
B = 7cm 

Reasoning 
Explain your answers.   
  

Problem  solving    


